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Instructions : Attempt all questions.

(1) I A TR avasw €, @ faail srgan vanfes o e k)
Use diagrams or flow-charts if necessary.

(iii) W WOih 23 W 26 T ¥ W o snvefie fenew e wa &)
In Question Nos. 23 to 26, internal optiens are given.
Frdwr : (A1) T w1 A 5w Awgeaty ww ¥ | T R W R 1 i ST
¥ (Fm w sfuwam PR~ 1 IR/ )

Instruction : (A) Question Nos. 1 to 5 jre very shext answer type questions. Each
question carries 1 marle (Maximum wondslimit is'1 wend/ 1 sentence)

wR-1 ZIFT &1 q0 7 JaRY | [
Give full name of ZIFT.
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W2 ol (gietn) g e o far e A 3 A 42

/
Which vitamin is found in more quantity in trans.cnic golden rice?

WA-3  Nif <9 frm qeasta o 7@ @@ €2

In which microorganism Nif gene is found ?

(1]

(1]

W4 F @ e ¥ wafuw e e f g ) [1]
What are found in maximum numbers in a food chain ?

WA-5 ThfefE ey i W wen ey 20 (1]
[nter-re-ationships between which components are ecosystem ?

SF— CLE) YR FEE 6 8 10 7% JAEgITiy v € | TS TH R 2 3% aeivd

§ 4 (I & afuaan v-w 30 v §)

Instruction : (R)

Question Nos. 6 1 10 are very short answer type questions. Each

question camies 2 marks. (Maximum word-limit of answer is

30 words)
Uy1-6 wG-qxga g t?
What is Self-sterility ?

WA-7 mm@mwﬁmﬁmml

Write any two differences between Genotype and Phenotype

ur-s SYOPH W ford Fea ¥ )

What is Retiprocal Cross ?
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39 gl @ A farey e wraefe an wfer ww fEa

rein , [1+1=2]

Name the microorganisms from which Cyclosporin and Statin are

obtained.
s fFR FEa €2 [2]
What is Plasmid ?

: () WE 9% 11 Q 22 T TgE0d ¥ § | TE ¥ W 3 3T et
T 1 (IW = Afysan w=g-wa 50 v ®)

Instruction : (C) Question Nos. 11 to 22 are short answer type questiobs. Each

question carries 3 marks. (Maximum word-limit of answer is

50 words)

w11 rE wE w2 wde T e -0 h @ ¥ [2+1=3)
What is menstrual cycle ? Which hormones regulate menstrual cycle?

WH-12 WA F g0 & SATIEd F F FAE AHiRq {1 TN [1%+1V=3]
Draw 2 well-labelled diagram of the TS of human testis. '

gv-13  ere faem ¥ 2 v fagm & @y fafag) [1%+1%=3)
What is Down Syndrome 7 Write its symptoms.

va-14 o G QA i faar aviy ged A 9 R, a9 SEen! WAl ¥ quie
F symfa # vaEied grR TR, © [1%+1%=3)
When a normal female is married with a colour blind male, then
work out colour blindness in the progeny of these parents with the
help of diagram.
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WS S i & 2 el ¥ <fy st @ 2 fafirat ffae ) [1+2=3]

What is gene expression 7 Write two methods of gene cxpression in

bacteria.

W9T-16 aﬂvﬁxww%?mmﬁamml [1+2=3]

What is drug addiction ? Writc its any two reasons.

W17 S S F A 72 e Y S w0 ) g 2 =i ? (3]
Higher organisms have resorted to sexual reproduction in spite of

their complexity. Why ?

UST-18 W13 st frd wea ¥ 2

[3]

What is called pene cloning ?

VA-19 g W %1 I o v fafag) o [V/4x6=3]
Write the effect of air pollution on plants.

W¥I-20 SOt IR O i e § ¢ 0 s fafa) [141+1=3)
Write any three differences between primary productivity and
secondary productivity.

Wyt-21 '&ﬁ-—fﬂﬁﬂm ﬂiﬂfl’f?ﬁ?'ﬁmmm [1X3=3]
Give any three benefits of Biodiversity.

WyT-22 m#mtmmtmmwmwm; [3)

Explain in brief the biotic factors of Grass-land Ecosystem,

e
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fordor : (]) WO i 23 I WA ¥ q@ wya w4 3w etz #) (o
Afiay w=-dm 75 I )
Instruction : (D) Question No. 23 is long answer type question. This question carries

4 marks. (Maximum word-limit of answer is 75 words)

WA-23 il ferwil T il e 3 A Ry, s A dan R frg T
TR T 1 fmfn fran, afes samem «ifa [2+2=4]
How does Eli Lilly American Company produce human insulin by
preparing two DNA sequences? Explain with diagram.
aar
OR

Wi yaen sifvufsa & fafv= w3 @1 wfew samem wifeg)

Explain various steps of polymerase chain reaction with diagram.
http://www.cgboardonline.com
st : (3) v U 24 B 26 7% TR0 WA ) YAF YA W5 3iF FEfza

¥\ (3 @ afuean w=-dm 150 g ¥)
Instruction : (E) Question Nos. 24 (o 26 arc long answer lype questions. Each question

carries 5 marks. (Maximum word-limit of answer is /50 words)

W-24 961 W@ 5% & @@y, dea ®) @@ w wfan 1 #ifag [2Y442Y%=5)
Describe Watson and Crick model of DNA with diagram.

sy
OR

AT, ¥ oo it sndeat fafer 9 W 300 Fifore

Describe semi-conservative method of DNA replication with diagram.
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WYR-25 wwmmmmm]ﬁgwmwmmw= [243=3]
() TR R
(3) fafen Sifimmd
(F) TF aws

Draw a labelled sketch of male répmductive system and write one

main function of the following parts :
(a) Sertoli cells |
(£) Levdig cells

tc)  Vas deferens

Haqr

OR

o 37 9% F Amiiwa i@ ae vl w1 o g e
fafaw :

(3 e afe

() weerd (JER)

(® HvEE™

Draw a labelled sketch of female reproductive system and write one

~main function of the following parts :

(@) Oviduct
(6) Fimbriae

(c) Ovary
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[7]
fraffaa I w1 g 2 aw §? [1x5=5]
(37) TFHRS
() wRAfAfEy
(F) TR
(?) =afe

(%) ===
How are the following diseases transmitted?
(¢) Typhoid
(h) [ilariasis
(¢) Ringworm
(d) Malaria
(e) Pneumonia
HAGT

OR

A forem & el = Yewveter a1 30 % Fa % faw = Ma v @

In yqur view what motivates young stars to take alcohol or drugs and

how can this be avoided?

'
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